



Résoudre chaque problème.

1)  $(18 \div 3) + 8 =$  \_\_\_\_\_

2)  $(12 - 11) \times 4 =$  \_\_\_\_\_

3)  $(2 \times 6) - 8 =$  \_\_\_\_\_

4)  $(56 \div 7) - 8 =$  \_\_\_\_\_

5)  $(6 \div 3) \times 3 =$  \_\_\_\_\_

6)  $(5 - 4) + 6 =$  \_\_\_\_\_

7)  $(11 - 3) - 7 =$  \_\_\_\_\_

8)  $(9 + 9) - 10 =$  \_\_\_\_\_

9)  $(3 + 1) \div 4 =$  \_\_\_\_\_

10)  $(4 + 1) \times 10 =$  \_\_\_\_\_

11)  $(6 + 8) + 7 =$  \_\_\_\_\_

12)  $(36 - 8) \div 4 =$  \_\_\_\_\_

13)  $(3 \times 5) \times 4 =$  \_\_\_\_\_

14)  $15 + (2 \times 10) =$  \_\_\_\_\_

15)  $(6 \times 3) \div 3 =$  \_\_\_\_\_

**Réponses**

1. \_\_\_\_\_

2. \_\_\_\_\_

3. \_\_\_\_\_

4. \_\_\_\_\_

5. \_\_\_\_\_

6. \_\_\_\_\_

7. \_\_\_\_\_

8. \_\_\_\_\_

9. \_\_\_\_\_

10. \_\_\_\_\_

11. \_\_\_\_\_

12. \_\_\_\_\_

13. \_\_\_\_\_

14. \_\_\_\_\_

15. \_\_\_\_\_



Résoudre chaque problème.

1)  $(18 \div 3) + 8 = \underline{14} \quad (6) + 8$

2)  $(12 - 11) \times 4 = \underline{4} \quad (1) \times 4$

3)  $(2 \times 6) - 8 = \underline{4} \quad (12) - 8$

4)  $(56 \div 7) - 8 = \underline{0} \quad (8) - 8$

5)  $(6 \div 3) \times 3 = \underline{6} \quad (2) \times 3$

6)  $(5 - 4) + 6 = \underline{7} \quad (1) + 6$

7)  $(11 - 3) - 7 = \underline{1} \quad (8) - 7$

8)  $(9 + 9) - 10 = \underline{8} \quad (18) - 10$

9)  $(3 + 1) \div 4 = \underline{1} \quad (4) \div 4$

10)  $(4 + 1) \times 10 = \underline{50} \quad (5) \times 10$

11)  $(6 + 8) + 7 = \underline{21} \quad (14) + 7$

12)  $(36 - 8) \div 4 = \underline{7} \quad (28) \div 4$

13)  $(3 \times 5) \times 4 = \underline{60} \quad (15) \times 4$

14)  $15 + (2 \times 10) = \underline{35} \quad 15 + (20)$

15)  $(6 \times 3) \div 3 = \underline{6} \quad (18) \div 3$

**Réponses**1. 142. 43. 44. 05. 66. 77. 18. 89. 110. 5011. 2112. 713. 6014. 3515. 6



Résoudre chaque problème.

**Réponses**

6	8	6	14	35
0	1	4	21	4
1	7	60	50	7

1)  $(18 \div 3) + 8 =$  \_\_\_\_\_

2)  $(12 - 11) \times 4 =$  \_\_\_\_\_

3)  $(2 \times 6) - 8 =$  \_\_\_\_\_

4)  $(56 \div 7) - 8 =$  \_\_\_\_\_

5)  $(6 \div 3) \times 3 =$  \_\_\_\_\_

6)  $(5 - 4) + 6 =$  \_\_\_\_\_

7)  $(11 - 3) - 7 =$  \_\_\_\_\_

8)  $(9 + 9) - 10 =$  \_\_\_\_\_

9)  $(3 + 1) \div 4 =$  \_\_\_\_\_

10)  $(4 + 1) \times 10 =$  \_\_\_\_\_

11)  $(6 + 8) + 7 =$  \_\_\_\_\_

12)  $(36 - 8) \div 4 =$  \_\_\_\_\_

13)  $(3 \times 5) \times 4 =$  \_\_\_\_\_

14)  $15 + (2 \times 10) =$  \_\_\_\_\_

15)  $(6 \times 3) \div 3 =$  \_\_\_\_\_

1. \_\_\_\_\_

2. \_\_\_\_\_

3. \_\_\_\_\_

4. \_\_\_\_\_

5. \_\_\_\_\_

6. \_\_\_\_\_

7. \_\_\_\_\_

8. \_\_\_\_\_

9. \_\_\_\_\_

10. \_\_\_\_\_

11. \_\_\_\_\_

12. \_\_\_\_\_

13. \_\_\_\_\_

14. \_\_\_\_\_

15. \_\_\_\_\_